EARAROBREBRT —5 XN—ZXBISH—F

2023598268 (X) 12@PI514H

IS 2 AR SR 2% ‘(fﬁ} 8 ‘[%EH?’;F&] - | & 1o B
[AE%) 1 &:500,000 ™ ~ 23#&:140,000 9  337%&:105000H  43#%&:70,000H . 5 3&:35,000
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
. T s 2 | BRERRSE 1:09.0 4-4 8.2 - 1 46 |NISFEA (OtimE)
YT =LK 55.0 <) () | B, =
R:ivadrIIsy #&:Jdq—FZA70— HUat RTHEE
- o2 | EREE 1:09.0 = 38.7| - 3 | 46 |NEER (LiE8)
A A51.0 (7I) (0 |EEHEE
RIAR—RT 7Y Bih—RY ESHhT7—L
SR — 2 | BEXKX 1:10.1 2-1 9.7 - 2 524 | BUSAI (EiEE)
IRTVRU—LA 55.0 ©) o |t
RIIRTVFULY BieaAA1ZI7—R JUARF=TI
No7OvY L 2 | BHESH AECAN #3 |94 - |6 | o |AIEE GusE
. FIT TELRES A
RiboPFO—)LN BIVITIVRAY VT g (10 TH R2E
Uam /Tt ws 42 ng%Hﬂ% 1:10.5 6-6 39.4| — 4 480 _@%E— (tiE8E)
. o) 25E—
RVI—HTF—) BireE/FIA “ |\ ak =
. = — : - - 873 ))
F—HrTUT it 2 Qﬁl’zg A 1:10.9 7-7 39.5 8 | 490 |fE&AEER (
; () EeHES
RikyI—FIWIT B FRFTRYF 2 2 H
S - 4 2 | BREZ 1:11.1 12-12 37.5| — 12 20 |EHRFX (JuisE)
717110 /{‘\:J?_U “7\ o 54.0 ) ) |BOE=
R:ZTwvF—0Orv b B:7ILRS RO%US
8l5|g | EFIWFFY 95 2| gt 1:(11).3 34 (407 - | 7 | 48 |EXAEH (U5
. 1 - SEEHE
RT—IVR7II— B:YF—T4—Y D | =g =m
o2 | REE 1:11.4 -1 [39.2| — | 10 | 43 |{EARHEE dLEE)
918111 ?.'D'U'_/“J_b’( . ‘ 55.0 (/4) () | LFH—
RZR/—RNZTY BFRFVYLAD MEZS Y R
vy 2 | Mt 1:11.4 7-8 4.0 — 1 1464 | EHHEE (OLigE)
100N 4 | h/ DA/ TES 55.0 (=) T4t
] R FE—XT—F— BEI-LFAF Y @2 g
= ~ tv 2 | MBREE 1:11.5 7-8 39.9| - 5 184 | BHFFK (OLEE)
11111 ?.TL\?'“(Z"_/- o 55.0 ) (+0) | EEER
R:aAN/VwF— BF—RTA4— Br RE
2R % 2 | BHFE 1:11.6 10-10 | 40.0| - 9 | 46 |/N\EHT (LEE)
12812 VLR —F o 55.0 W e |,
RLYRITFIVIR B:LF4—T7—RN BEARE
@ 11— —®BIEfI
13—7+—
20—7F—
30—7— 8,5,6,(2,3),9,(1,4,7),12,11,10
43—F— (5,8),3,(2,6),9,7,(1,4),12,11,10
o ILRE
B B 2 240M4 AR 2-8 210M4 % 3= 2-6 5304 3EE 2-5-8 500/
7B B 2 120 2-5 280 5 & 2-8 480 3EH 2-8-5 2,450
8 140M4 5-8 340 Ba 2-8 760M
5 160M4

ABIC OV TRUTEREERRODDZE. THRIIZEL.




